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QUESTION 1

In a discovery pattern, which types are available with CI Attributes in the Pattern Designer? (Choose two.)
A. Global ClI types

B. Main pattern Cl type

C. Related CI types

D. All Cl types

Correct Answer: BC

Reference: https://docs.servicenow.com/bundle/paris-it-operations-management/page/product/service-
mapping/task/add-related-cis-to-the-main-ci-pattern.html

QUESTION 2

Which choice best describes a horizontal discovery pattern?
A. Steps that execute operations

B. Credential depot

C. Port scanning tool

D. Classifiers that execute probes

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/rome-it-operations-
management/page/product/discovery/concept/c_GetStartedWithDiscovery.html

QUESTION 3

For the Set Parameter Value operation, which of the following is used in the syntax to declare a constant, unchanging
Value?

A. Hash tag
B. Brackets
C. Quotes

D. Dollar sign

Correct Answer: C
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QUESTION 4

In order to use Debug from the Pattern Designer, you must have what?
A. a proxy server

B. a discoverable CI

C. the admin role

D. Service Mapping installed

Correct Answer: B

QUESTION 5

Hardware Models can have a one-to-many relationship with the following: (Choose three.)
A. Assets

B. Manufacturer

C. Configuration Items

D. Product owner

E. Model Categories

Correct Answer: ACE

Reference: https://docs.servicenow.com/bundle/rome-servicenow-platform/page/product/configuration-
management/concept/c_CIRelationships.html
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